
CHEMISTRY

BOOKS - FULL MARKS CHEMISTRY

(TAMIL ENGLISH)

METALLURGY

Textbook Evaluation Choose The Correct Answer

1. Bauxite has the composition

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PAAPf5bc9CNm


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

Al2O3

Al2O3. nH2O

Fe2O32H2O

2. Roasting os sulphide ore gives the gas (A).

(A) is a colourless gas. Aqueous solution of (A)

is acidic. The gas (A) is

https://dl.doubtnut.com/l/_PAAPf5bc9CNm
https://dl.doubtnut.com/l/_FZkHyhZkO64d


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2

SO3

SO2

H2S

3. Which one of the following reaction

represents calcination ?

https://dl.doubtnut.com/l/_FZkHyhZkO64d
https://dl.doubtnut.com/l/_7IH9h6GmazsQ


A. 

B. 

C. 

D. Both (a) and (c)

Answer: C

Watch Video Solution

2Zn + O2 → 2ZnO

2ZnS + 3O2 → 2ZnO + 2SO2

MgCO3 → MgO + CO2

4. The metal oxide which cannot be reduced to

metal by carbon is

https://dl.doubtnut.com/l/_7IH9h6GmazsQ
https://dl.doubtnut.com/l/_A9GOaPmFVWtI


A. Pbo

B. 

C. ZnO

D. FeO

Answer: B

Watch Video Solution

Al2O3

5. Which of the metal is extracted by Hall-

Heroult process ?

https://dl.doubtnut.com/l/_A9GOaPmFVWtI
https://dl.doubtnut.com/l/_XiZL1C96t4sc


A. Al

B. Ni

C. Cu

D. Zn

Answer: A

Watch Video Solution

6. Which of the following statements, about

the advantage of roasting of sulphide ore

before reduction is not true ?

https://dl.doubtnut.com/l/_XiZL1C96t4sc
https://dl.doubtnut.com/l/_wOs2bUXIPoEC


A.  of sulphide is greater than those

for  and 

B.  is negative for roasting of sulphide

ore to oxide.

C. Roasting of the sulphide to its oxide is

thermodynamically feasible.

D. Carbon and hydrogen are suitable

reducing agenets for metal sulphides.

Answer: D

Watch Video Solution

ΔG∘
f

CS2 H2S

ΔG∘
r

https://dl.doubtnut.com/l/_wOs2bUXIPoEC


7. Match item is column -I with items of column

-II and assign the correct code: 

A. 

B. 

C. 

D. 

A B C D

(i) (ii) (iii) (iv)

A B C D

(iii) (iv) (v) (i)

A B C D

(iv) (ii) (iii) (i)

A B C D

(ii) (iii) (i) (v)

https://dl.doubtnut.com/l/_wOs2bUXIPoEC
https://dl.doubtnut.com/l/_g9XiyQSXSRDO


Answer: C

View Text Solution

8. Wolframite ore is separated from tinstone

by the process of

A. Smelting

B. Calcination

C. Roasting

D. Electomagneti separation

https://dl.doubtnut.com/l/_g9XiyQSXSRDO
https://dl.doubtnut.com/l/_vZdOxmuDPDnh


Answer: D

Watch Video Solution

9. Which one of the following is not feasible?

A. 

B. 

Zn(s) + CU 2+ (aq) → Cu(s) + Zn2+ (aq)

Cu(S) + Zn2+ (aq) → Zn(s) + Cu2+ (aq)

https://dl.doubtnut.com/l/_vZdOxmuDPDnh
https://dl.doubtnut.com/l/_x4TmpbRvh1I1


C. 

D. 

Answer: B

View Text Solution

Cu(s) + 2Ag + (ag) → Ag(s) + Cu2+ (ag)

Fe(S) + Cu2+ (aq) → Cu(s) + fe2+ (aq)

10. Electrochemical process is used to extract

A. Iron

https://dl.doubtnut.com/l/_x4TmpbRvh1I1
https://dl.doubtnut.com/l/_QEdrKC5lfOiw


B. Lead

C. Sodium

D. Silver

Answer: C

Watch Video Solution

11. Flux is a substances which is used to

convert

A. Mineral into silicate

https://dl.doubtnut.com/l/_QEdrKC5lfOiw
https://dl.doubtnut.com/l/_9LBq97OzXNKb


B. Infusible impurities to soluble impurities

C. Soluble impurities to infusible impurities

D. All of these

Answer: B

Watch Video Solution

12. Which one of the following ore is best

concentrated by froath - floatation method ?

A. Magnetic

https://dl.doubtnut.com/l/_9LBq97OzXNKb
https://dl.doubtnut.com/l/_xSLTYPWtAp4T


B. Hematite

C. Galena

D. Cassiterite

Answer: C

Watch Video Solution

13. In the extraction of aluminium from

alumina by electrolysis, cryolite is added to

A. Lower the melting point of alumina

https://dl.doubtnut.com/l/_xSLTYPWtAp4T
https://dl.doubtnut.com/l/_zRIQ1lYeVGgj


B. Remove impurities from alumina

C. Decrease the electrical conductivity

D. Increase the rate of reduction

Answer: A

Watch Video Solution

14. Zinc is obtained from ZnO by

A. Carbon reduction

B. Reduction using silver

https://dl.doubtnut.com/l/_zRIQ1lYeVGgj
https://dl.doubtnut.com/l/_AP6ph7DLa9PJ


C. Electrochemical process

D. Acid leaching

Answer: A

Watch Video Solution

15. Cupellation is a process used for the

refining of

A. Silver

B. Lead

https://dl.doubtnut.com/l/_AP6ph7DLa9PJ
https://dl.doubtnut.com/l/_xCMPW2suutYc


C. Copper

D. Iron

Answer: A

Watch Video Solution

16. Extraction of gold and silver involves

leaching with cyanide ion. Silver is later

recovered by

A. Distillation

https://dl.doubtnut.com/l/_xCMPW2suutYc
https://dl.doubtnut.com/l/_FvPmnqsADB27


B. Zone refining

C. Displacement with zinc

D. Liquation

Answer: C

Watch Video Solution

17. Considering Ellingham diagram,which of

the following metals can be used to reduce

alumina?

https://dl.doubtnut.com/l/_FvPmnqsADB27
https://dl.doubtnut.com/l/_VnMa3jjuBDPg


A. Fe

B. Cu

C. Mg

D. Zn

Answer: C

View Text Solution

18. The following set of reactions are used in

refining Ziconium 

Zr (impure)+  
2l2
523K

Z rl4

https://dl.doubtnut.com/l/_VnMa3jjuBDPg
https://dl.doubtnut.com/l/_3Hesel5wEj80


 this method is known

as………

A. Liquation

B. Van Arkel process

C. Zone refining

D. Mond's process

Answer: B

View Text Solution

Zel4
1800K

Z r(pure) + 2l2

https://dl.doubtnut.com/l/_3Hesel5wEj80


19. Which of the following is used for

concentrating ore in metallurgy ?

A. Leaching

B. Roasting

C. Froth floatation

D. Both (a) and (c)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uwzSFosqZPn6
https://dl.doubtnut.com/l/_CFH8pDtfJFwd


20. The incorrect statement among the

following is

A. Nickel is refined by Van Mond's process

B. Titanium is refined by Van Arkel,s process

C. Zinc blende is concentrated by froth

floatation

D. In the metallurgy of gold,the metal is

leached with dilute sodium chloride

solution

Answer: D

https://dl.doubtnut.com/l/_CFH8pDtfJFwd


Watch Video Solution

21. In the electrolytic refining of copper, which

one of the following is used as anode ?

A. Pure copper

B. Impure copper

C. Carbon rod

D. Platinum electrode

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_CFH8pDtfJFwd
https://dl.doubtnut.com/l/_UILDu1Aicmd0


Watch Video Solution

22. Which of the following plot gives Ellingham

diagram?

A.  Vs T

B. 

C. 

D. 

Answer: B

View Text Solution

ΔS

Δ ∘ V sT

ΔG∘ V s
1

T

ΔG∘ V sT 2

https://dl.doubtnut.com/l/_UILDu1Aicmd0
https://dl.doubtnut.com/l/_gIqIMaFM75no


23. In the Ellingham diagram for the formation

of carbon monoxide

A.  is negative

B.  is positive

C.  is negative

D. intially  is positive,after C,

 is negative

Answer: C

View Text Solution

( )
ΔS ∘

ΔT

( )
ΔG∘

ΔT

( )
ΔG∘

ΔT

ΔT

ΔG∘
700∘

( )
ΔG∘

ΔT

https://dl.doubtnut.com/l/_gIqIMaFM75no
https://dl.doubtnut.com/l/_6I9c8sJA2MZF


View Text Solution

24. Which of the following reduction is not

thermodynamically feasible?

A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

Cr2O3 + 2Al → Al2O3 + 2Cr

Al2O32Cr → Cr2O3 + 2Al

3T iO2 + 4Al → 2Al2O3 + 3T i

https://dl.doubtnut.com/l/_6I9c8sJA2MZF
https://dl.doubtnut.com/l/_jZebHJ1tGR5M


25. Which of the following is not true with

respect to Ellingham diagram?

A. Free emergy changes follow a straight

line.Deviation occurs when there is a

phase change.

B. The graph for the formation of  is a

straight line almost parallel to free enery

axis.

CO2

https://dl.doubtnut.com/l/_jZebHJ1tGR5M
https://dl.doubtnut.com/l/_EwmTTguGh4gM


C. Negative slope of CO shows that it

becomes more stable with increase in

temprature.

D. Positive slopw of metal oxides shows

that their stabilities decrease with

increase on temprature.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_EwmTTguGh4gM


Textbook Evaluation Answer The Following

Questions

1. What is difference between minerals and

ores ?

Watch Video Solution

2. What are the various steps involved in

extraction of pure metals from their ores ?

Watch Video Solution

https://dl.doubtnut.com/l/_CBFuYpIcyzR0
https://dl.doubtnut.com/l/_BoZdviMMiJws
https://dl.doubtnut.com/l/_vg1BVJekxs4R


3. What is the role of Limestone in the

extraction of Iron from its oxide  ?

Watch Video Solution

Fe2O3

4. Which type of ores can be concentrated by

froth floatation method? Give two examples

for such ores.

Watch Video Solution

https://dl.doubtnut.com/l/_vg1BVJekxs4R
https://dl.doubtnut.com/l/_omxwGSCBYctc


5. Out of coke and CO, which is better reducing

agent for the reduction of ZnO? Why?

View Text Solution

6. Describe a method for refining nickel.

Watch Video Solution

7. Explain zone refining process with an

example using the Elligham diagram fiven

https://dl.doubtnut.com/l/_we1ptKSpo53Z
https://dl.doubtnut.com/l/_ybhBs7Zk7CRg
https://dl.doubtnut.com/l/_i417c0BPw51A


below.

View Text Solution

8. Predict the conditions under which 

(a)Aluminium might be expected to reduce

magnesia 

(b)Magnesium could reduce alumina. 

(ii)Carbon monoxide is more effective reducing

agent than carbon below 983 K but, above this

temprature,the reverse is true -Explain. 

https://dl.doubtnut.com/l/_i417c0BPw51A
https://dl.doubtnut.com/l/_EI2N2Dh9Yfa0


(iii)it is possible to reduce  by coke at a

temprature around 1200 K.

View Text Solution

Fe2O3

9. Give the uses of zinc.

Watch Video Solution

10. Explain the electrometallurgy of aluminium.

View Text Solution

https://dl.doubtnut.com/l/_EI2N2Dh9Yfa0
https://dl.doubtnut.com/l/_aeW19pyzLV56
https://dl.doubtnut.com/l/_6JDnzk8ibdj5


11. Explain the following terms with suitable

examples. 

(i)Gangue (ii)Slag

View Text Solution

12. Give the basic requirement for vapour

phase refining.

Watch Video Solution

https://dl.doubtnut.com/l/_V6XQBKNAzHVY
https://dl.doubtnut.com/l/_9149jEu3bcfI


13. Describe the role of the following in the

process metioned. 

(i)Silica in the extraction of copper. 

(ii)Cryolite in the extraction of aluminium. 

(iii)Iodine in the refining of Ziroconium. 

(iv)Sodium cyanide in froth floatation.

View Text Solution

14. Explain the principle of electrolytic refining

with an example.

W t h Vid S l ti

https://dl.doubtnut.com/l/_KqJaVJM2AvwC
https://dl.doubtnut.com/l/_ZgdjfyCJQwf0


Watch Video Solution

15. The selection of reducing agent depends

on the thermodynamic factor.Explain with an

example.

View Text Solution

16. Give the limitations of Ellingham diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_ZgdjfyCJQwf0
https://dl.doubtnut.com/l/_lpZQQKvWz4rX
https://dl.doubtnut.com/l/_6bO1TNtkofEL


Evaluate Yourself

17. Write a short note on electrochemical

principles of metallurgy.

View Text Solution

1. Write the equation for the extraction of

silver by leaching with sodium cyanide and

show that the leaching proces is a redox

reaction.

https://dl.doubtnut.com/l/_ao4oltmUNdGF
https://dl.doubtnut.com/l/_3JYeGSW2Tlx9


Watch Video Solution

2. Magnesite (Magnesium carbonate) is

calcined to obtain magnesia, which is used to

make refractory bricks. Write the

decomposition reaction.

Watch Video Solution

3. using Ellingham diagram indicate the lowest

temprature at which ZnO can be reduced to

https://dl.doubtnut.com/l/_3JYeGSW2Tlx9
https://dl.doubtnut.com/l/_VYLMmoPiW8VB
https://dl.doubtnut.com/l/_CnrN0m5bcsMT


zinc metal by carbon.Write the overall

reduction reaction at this temprature.

View Text Solution

4. Metallic sodium is extracted by the

electrolysis of brine (eq. NaCl) .After

electrolysis the electrolytic solution becomes

basic in nature.Write the possible electrode

reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_CnrN0m5bcsMT
https://dl.doubtnut.com/l/_rBHbpPPEdjOr


Additional Questions Choose The Best Answer

1. Choose the best answer.

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Fe2O3

Fe2O3. FeO

Al2O3. H2O

Al2O3.2H2O

https://dl.doubtnut.com/l/_DYsiwYOtxal7


2. Froth floatation process involves the……

A. Treatment of the ore with water and

pine oil

B. Washing of the ore with a steam of

water

C. Owing off the ore over a conveyor belt

rolling over magnetic roller

D. melting of ore

Answer: A

https://dl.doubtnut.com/l/_1U5FJvQZUWPP


Watch Video Solution

3. In the froth floatation process for the

purification of ores the particles float

because……

A. They are light

B. Their surface is not easil wetted by water

C. they bear electrostatic charge

D. they are insoluble

Answer: B

https://dl.doubtnut.com/l/_1U5FJvQZUWPP
https://dl.doubtnut.com/l/_ha0L2QSnqlyi


Watch Video Solution

4. In a metallurgical process ,an acid flux is

used for removing…..

A. Slag

B. Basic flux

C. Acidic gangue

D. Basic gangue

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_ha0L2QSnqlyi
https://dl.doubtnut.com/l/_DopfOxXqUpls


Watch Video Solution

5. The process of the removal of impurities

from a crude metal is called…….

A. Concentration

B. Calcination

C. Refining

D. Roasting

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DopfOxXqUpls
https://dl.doubtnut.com/l/_kkvU3spyfbA4


6. Which of the following metal is obtained by

self reduction method?

A. Fe

B. Cu

C. Ag

D. Mg

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kkvU3spyfbA4
https://dl.doubtnut.com/l/_Q5h0hKrJN1Hf


7. Which one of the following ore is best

concentrated by froth floatation method?

A. Magnetite

B. Malachite

C. Galena

D. Haematite

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Od7HMuGlYIVF
https://dl.doubtnut.com/l/_yamn68FbJRu5


8. Heating mixture of  and  will

give……..

A. 

B. 

C. CuO+CuS

D. 

Answer: A

View Text Solution

Cu2O Cu2S

Cu + SO2

Cu + SO3

Cu2SO3

https://dl.doubtnut.com/l/_yamn68FbJRu5


9. Which of the following pairs of metals is

puridied by Van-Arkel method?

A. Ag and Au

B. Ni and Fe

C. Ga and In

D. Zr and Ti

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_XO47ERl01aZb
https://dl.doubtnut.com/l/_2r912llpj6me


10. Aluminium is extracted from alumina

 by electrolysis of a molten mixture of

……….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(Al2O3)

Al2O3 + KF + Na3AlF6

Al2O3 + HF + NaAlF4

Al2O3 + HF + NaAlF4

Al2O3 + Na3AlF6 + CaF2

https://dl.doubtnut.com/l/_2r912llpj6me
https://dl.doubtnut.com/l/_NZjblFzVukWv


11. The ore which contains both copper and

iron….

A. Cuprite

B. Haematite

C. Copper pyrite

D. Malachite

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NZjblFzVukWv


12. Match the etraction processes listed in

column-I with metals listed in column-II 

A. 

B. A-3,B-4,C-1,D-2

C. A-3,B-1,C-2,D-4

D. A-4,B-2,C-1,D-3

Answer: C

A − 2, B − 1, C − 4, D − 3

https://dl.doubtnut.com/l/_3tpMBH6dIguY


View Text Solution

13. The chief ore of Aluminium is __________

A. Bauxite

B. Clay

C. Haematite

D. Magnetite

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3tpMBH6dIguY
https://dl.doubtnut.com/l/_dIXi2yCRMDEa


14. Which one of the following metal having

least chemical reactive?

A. Na

B. Mg

C. Al

D. Au

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qgkMFNsEKq6E
https://dl.doubtnut.com/l/_JCWILf2X1crp


15. Pick out the more reactive metal

A. Cu

B. Ag

C. Au

D. Na

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JCWILf2X1crp


16. Consider the following statements. 

(i)All ores ar minerals but all minerals are not

ores. 

(ii) bauxite is an ore of aluminium while clay is

not. 

(iii) Extraction of aluminium from clay is

profitable one.

A. (i)Only

B. (ii)Only

C. (iii)Only

D. (i),(ii) and (iii)

https://dl.doubtnut.com/l/_G5JXKXeYdged


Answer: C

View Text Solution

17. Match the List-I and List-II correctly using

the code given below. 

A. 

B. 

A,B,C,D

1,2,3.4

A,B,C,D

2,3,4,1

https://dl.doubtnut.com/l/_G5JXKXeYdged
https://dl.doubtnut.com/l/_6ExwF6kAikH1


C. 

D. 

Answer: C

Watch Video Solution

A,B,C,D

3,4,2,1

A,B,C,D

3,4,2,1

18. The impurities associated with ores is……

A. Flux

B. Slag

C. Gangue

https://dl.doubtnut.com/l/_6ExwF6kAikH1
https://dl.doubtnut.com/l/_hUlkHMJy5rBU


D. Metal

Answer: C

Watch Video Solution

19. Oxide ores are concentrated by………

A. Hand picking

B. hydraulic washing

C. froth floatation process

D. Magnetic sepration process

https://dl.doubtnut.com/l/_hUlkHMJy5rBU
https://dl.doubtnut.com/l/_IwDgMMyo4TNf


Answer: B

Watch Video Solution

20. Heaematite and tin stone are purified by

…………

A. Gravity separation process

B. Magnetic separation process

C. Froth floatation process

D. Hand picking

https://dl.doubtnut.com/l/_IwDgMMyo4TNf
https://dl.doubtnut.com/l/_uDHcjLizS94T


Answer: A

Watch Video Solution

21. Froth flotation process is suitable for

concentrating …………… ores.

A. Oxide ores

B. Carbonate ores

C. Chloride ores

D. Sulphide ores

https://dl.doubtnut.com/l/_uDHcjLizS94T
https://dl.doubtnut.com/l/_2w0u7RdnCXE9


Answer: D

Watch Video Solution

22. Copper pyrite and zinc blende are purified

by……..

A. Gravity separation process

B. Froth floatation process

C. Hand picking

D. None of the above

https://dl.doubtnut.com/l/_2w0u7RdnCXE9
https://dl.doubtnut.com/l/_fHHU5UCnJ7vf


Answer: B

Watch Video Solution

23. Frothing agents used to separate ZnS from

PbS is……

A. NaCN

B. NaCl

C. 

D. 

NaNO3

NaNO2

https://dl.doubtnut.com/l/_fHHU5UCnJ7vf
https://dl.doubtnut.com/l/_Ob27ord72v1s


Answer: A

Watch Video Solution

24. Depressing agents used to separate ZnS

from PbS is ……..

A. NaCN

B. NaCl

C. 

D. 

NaNO3

NaNO2

https://dl.doubtnut.com/l/_Ob27ord72v1s
https://dl.doubtnut.com/l/_GxyRX6o24Be2


Answer: A

Watch Video Solution

25. Leaching is also called as……..

A. Hand picking

B. Electrolysis

C. Chemical process

D. Magnetic separation process

Answer: C

https://dl.doubtnut.com/l/_GxyRX6o24Be2
https://dl.doubtnut.com/l/_cSCYpxlePlEo


Watch Video Solution

26. In the leaching process ,the metal present

in the ore is converted into…..

A. Soluble salt

B. Soluble complex

C. Insoluble complex

D. both (a) and (b)

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_cSCYpxlePlEo
https://dl.doubtnut.com/l/_S7ulYFuYB6xG


Watch Video Solution

27. Gold ore is concentrated by…….

A. Cyanide leaching

B. Alkali leaching

C. Acid leaching

D. Hand picking

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_S7ulYFuYB6xG
https://dl.doubtnut.com/l/_f8GgLKR6sQNE
https://dl.doubtnut.com/l/_ZFqyY5PbgKLM


28. Bauxite is purified by…….

A. Cyanide leaching

B. Alkali leaching

C. Acid leaching

D. Hand picking

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZFqyY5PbgKLM


29. Which type of leaching process convert

insoluble sulphide ores into soluble

sulphates?

A. Cyanide leaching

B. Alkali leaching

C. Acid leaching

D. Hand picking

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ysBFRGCXiTzj


30. A chemist involves mining process and he

got two ores together .If one is tinstone and

another one is chromite,which type of process

will be used to separate that two ores?

A. Leaching process

B. Froth floatation process

C. Zone refining process

D. Magnetic separation process

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LKR9aBguAKyC


31. The process in which the concentrated ore

is strongly heated in the absence of air is

called as………

A. Roasting

B. Calcination

C. Smelting

D. Leaching

Answer: B

h id l i

https://dl.doubtnut.com/l/_LKR9aBguAKyC
https://dl.doubtnut.com/l/_mPojit03wL0v


Watch Video Solution

32. A chemical substance that forms an easily

fusible slag with gangue is called as…

A. Flux

B. Pure metal

C. Ore

D. impure metal

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mPojit03wL0v
https://dl.doubtnut.com/l/_BgdIxvjDAxW4


33. Blistered copper is………………

A. 98% pure copper

B. 96% pure coppr

C. 97% pure copper

D. 88% pure copper

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BgdIxvjDAxW4
https://dl.doubtnut.com/l/_XPVgTm3dxKyV
https://dl.doubtnut.com/l/_jDaB07DSsgj1


34. Ignition mixture used in aluminothermic

process is ………….

A. 

B. MgO+BaO

C. 

D. 

Answer: A

Watch Video Solution

Mg + BaO2

Al2O3 + Mg

Al2O3 + BaO2

https://dl.doubtnut.com/l/_jDaB07DSsgj1


35. For spontaneous reaction ,the change in

free energy should be…

A. positive

B. Negative

C. Zero

D. Neutral

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_Rq3meSYQFuS4
https://dl.doubtnut.com/l/_VcXxCjumcUnz


36. The change in Gibbs free energy for a

reaction is expanded by...........

A. 

B. 

C. G-H-TS

D. 

Answer: D

Watch Video Solution

ΔG = ΔH + TΔS

ΔG = ΔH − T S

ΔG = ΔH − TΔS

https://dl.doubtnut.com/l/_VcXxCjumcUnz


37. Relationship between  and  is…….

A. =RT In 

B.  =-Rin 

C. =-T In 

D. =-RT In 

Answer: A

View Text Solution

ΔG∘ KP

ΔG∘ KP

ΔG∘ Kp

ΔG∘ KP

ΔG∘ KP

https://dl.doubtnut.com/l/_1A8a74dVGwuN


38. Consider the following statements. 

(i)Ellingham drawn on a plot by considering

the temprature in the x-axis and the standard

free enery change for the formation of metal

oxide in y-axis 

(ii) The resultant plot is straight line. 

(iii)In the Ellingham diagram.  as slope and 

 as y-intercept. 


which of the above statement is/are not

correct?

A. (i) and (ii)

ΔH

ΔS

https://dl.doubtnut.com/l/_jGCYeHQPR3PS


B. (ii) and (iii)

C. (ii) only

D. (iii)Only

Answer: D

View Text Solution

39. Which of the following oxides is unstable

at moderate temperature?

A. Al2O3

https://dl.doubtnut.com/l/_jGCYeHQPR3PS
https://dl.doubtnut.com/l/_LaTgZH7Y652T


B. 

C. MgO

D. HgO

Answer: D

View Text Solution

Cr2O3

40. The oxides will decompose on heating even

in the absence of reducing agent is ……..

A. Ag2O

https://dl.doubtnut.com/l/_LaTgZH7Y652T
https://dl.doubtnut.com/l/_MoQazzNqrqYb


B. HgO

C. MgO

D. Both (a) and (b)

Answer: D

View Text Solution

41. consider the following statements 

(i)Ellingham diagram gives information about

the thermodynamic feasibility of a reaction. 

(ii)It explains the rate of the reaction. 

https://dl.doubtnut.com/l/_MoQazzNqrqYb
https://dl.doubtnut.com/l/_MhohF3waKvWV


(iii)Below 1000 K temprature ,FeO is more

stable than CO 

Which of the above statement (s) is /are not

correct?

A. (i) and (ii)

B. (ii)and (iii)

C. (iii) only

D. (ii) Only

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_MhohF3waKvWV


42. Gibbs free energy change for the

electrolysis process is expressed by ………………… .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔG∘ = − nFE ∘

ΔG∘ = − nF

ΔG∘ = − nFE ∘

ΔG∘ = nFE ∘

https://dl.doubtnut.com/l/_IHB00iEHIeC6
https://dl.doubtnut.com/l/_FPcPWk5C924h


43. The technique used to refining zinc and

mercury is ……

A. Liquation

B. Distillation

C. Zone refining

D. Van-Arkel method

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_FPcPWk5C924h


44. Which of the following is not purified by

zone refining process?

A. Ge

B. Si

C. Ga

D. Al

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aFGQBaRGYEr7
https://dl.doubtnut.com/l/_OzzexopHS4Iz


45. Nickel is purified by….

A. Mond process

B. Van-Arkel method

C. Zone refining

D. Electrolytic refining

Answer: A

Watch Video Solution

46. Titanium is purified by ……..

https://dl.doubtnut.com/l/_OzzexopHS4Iz
https://dl.doubtnut.com/l/_hntPDpOJty4z


A. Mond process

B. Van-Arkel Method

C. Zone refining

D. Electrolytic refining

Answer: B

Watch Video Solution

47. The metal used for galvanisation of iron is

….

https://dl.doubtnut.com/l/_hntPDpOJty4z
https://dl.doubtnut.com/l/_Upfu9zkriU2i


A. Al

B. Zn

C. Cu

D. Au

Answer: B

Watch Video Solution

48. Which metal alloy is used in design of

aeroplane parts?

https://dl.doubtnut.com/l/_Upfu9zkriU2i
https://dl.doubtnut.com/l/_LjwCc6wWkMiP


A. Al

B. Zn

C. Cu

D. Au

Answer: A

Watch Video Solution

49. Which metal is used for making coins and

ornaments along with gold and other metals?

https://dl.doubtnut.com/l/_LjwCc6wWkMiP
https://dl.doubtnut.com/l/_KOIYPjO7sA3o


Additional Questions Fill In The Blanks

A. Zn

B. Al

C. Cu

D. Fe

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KOIYPjO7sA3o


1. Minerals that contains a high percentage of

metal from which it can be extracted are

called…….

Watch Video Solution

2. …….helps us to select a suitable reducing

agent and appropriate temrature range for

reduction

View Text Solution

https://dl.doubtnut.com/l/_YNaoD0Mv0CmM
https://dl.doubtnut.com/l/_1UZdSDvziFvN
https://dl.doubtnut.com/l/_nKZDNaLwnuqJ


3. If  is positive ,then the  is……..

Watch Video Solution

E ∘ ΔG

4. Chemical formula of cuprite is……..

Watch Video Solution

5. Gravity separation is also called as……….

Watch Video Solution

https://dl.doubtnut.com/l/_nKZDNaLwnuqJ
https://dl.doubtnut.com/l/_WehdkLUMbFgl
https://dl.doubtnut.com/l/_zYpgdZxnhm1X
https://dl.doubtnut.com/l/_TzwFNqJPBbJq


6. …….ore is purified by gravity separation

process.

Watch Video Solution

7. In froth floatation process…….acts as a

collector

Watch Video Solution

8. Sodium cyanide is added to depresses the

floatation property of ZnS by forming a layer

https://dl.doubtnut.com/l/_TzwFNqJPBbJq
https://dl.doubtnut.com/l/_x0ys0qPc5OCI
https://dl.doubtnut.com/l/_Z5Ba1CzA1oEw


of …….

Watch Video Solution

9. The process of gold reduced to its elemental

state is called ……..

View Text Solution

10. Leaching process is a…….reaction

Watch Video Solution

https://dl.doubtnut.com/l/_Z5Ba1CzA1oEw
https://dl.doubtnut.com/l/_ESNYvlhuKcp9
https://dl.doubtnut.com/l/_OlNjPFDOcbB5


11. Magnesite is calcined to give ……..

Watch Video Solution

12. A chemical substance that forms an easily

fusible slag with gangue is called as…

Watch Video Solution

13. In the extraction of iron ……..is removed as

slag.

https://dl.doubtnut.com/l/_LrrWt2yfWy65
https://dl.doubtnut.com/l/_mfJB2Y4ypHLj
https://dl.doubtnut.com/l/_T0OGBfIQ7br2


Watch Video Solution

14. In the extraction of copper……….is removed

as slag

Watch Video Solution

15.  can be reduced by an……process

Watch Video Solution

Cr2O3

https://dl.doubtnut.com/l/_T0OGBfIQ7br2
https://dl.doubtnut.com/l/_l7k1JAxf8xCb
https://dl.doubtnut.com/l/_NRdIxIhnfNKf


16. …………is used as a reducing agent for the

reduction of chromic oxide

Watch Video Solution

17. ………… is purified by zone refining

A. Ge

B. Cu

C. Fe

D. Zn

https://dl.doubtnut.com/l/_3CKar9uGI3rX
https://dl.doubtnut.com/l/_Bh6PJVOEDind


Answer:

Watch Video Solution

18. In the mond process,impure nickel is

heated with …………..compound.

Watch Video Solution

19. ………….filament is used to decompose

titanium tetraiodide

W t h Vid S l ti

https://dl.doubtnut.com/l/_Bh6PJVOEDind
https://dl.doubtnut.com/l/_KxDoDG7wISCr
https://dl.doubtnut.com/l/_c0za8iHf0pSa


Watch Video Solution

20. ……….is the most abundant metal.

Watch Video Solution

21. ……….is used in packing materials for food

items.

Watch Video Solution

https://dl.doubtnut.com/l/_c0za8iHf0pSa
https://dl.doubtnut.com/l/_s7tNly5kd90n
https://dl.doubtnut.com/l/_Vname9xXhnDS


22. …………..is used in the making item of

machine

Watch Video Solution

23. ………..is used in the manufature of paints

ruber and cosmetics.

View Text Solution

24. ……….is the first metal used by the humans

https://dl.doubtnut.com/l/_D0ZkQL4Fepfu
https://dl.doubtnut.com/l/_aP46S5DEhBFK
https://dl.doubtnut.com/l/_T55hDdHAMnZR


Watch Video Solution

25. ……….. Is used for increasing the efficiency of

solar cells and also used as catalysts.

Watch Video Solution

26. ………ore is concentrated by froth floatation

process.

Watch Video Solution

https://dl.doubtnut.com/l/_T55hDdHAMnZR
https://dl.doubtnut.com/l/_BCULaUiUIrJX
https://dl.doubtnut.com/l/_ktuq6k6rEW06
https://dl.doubtnut.com/l/_4dr2IABAR7xn


Additional Questions Match The Following

27. Zinc blende is concentrated by….. Process

Watch Video Solution

28. Gold ore is leached by adding of ……….

Watch Video Solution

https://dl.doubtnut.com/l/_4dr2IABAR7xn
https://dl.doubtnut.com/l/_5tWEYPbelCZs


1. Match the following columns

Watch Video Solution

2. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_bpcCXaEQ3pN7
https://dl.doubtnut.com/l/_SH1pYEDl8PXh


3. 

Watch Video Solution

4. Match the following columns

W t h Vid S l ti

https://dl.doubtnut.com/l/_SH1pYEDl8PXh
https://dl.doubtnut.com/l/_ozLOlS33K3Et
https://dl.doubtnut.com/l/_ILYxnHQAGERT


Watch Video Solution

5. 

Watch Video Solution

6. Match the following columns

https://dl.doubtnut.com/l/_ILYxnHQAGERT
https://dl.doubtnut.com/l/_tnWfiijDNL03
https://dl.doubtnut.com/l/_sLeL5YZzBi4H


Watch Video Solution

7. 

View Text Solution

8. Match the following columns

https://dl.doubtnut.com/l/_sLeL5YZzBi4H
https://dl.doubtnut.com/l/_q9cLhCM8vMYG
https://dl.doubtnut.com/l/_lJvQEP4wQj9X


Additional Questions Assertion And Reasons

Watch Video Solution

1. Assertion (A):Clay is an ore of aluminium

while bauxite is not. 

(R ): Aluminium can be economically extracted

from bauxite not from clay.

A. A and R are correct R explain A

B. A and R are correct,R does not explains A

https://dl.doubtnut.com/l/_lJvQEP4wQj9X
https://dl.doubtnut.com/l/_E9RMCdGZlqha


C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: d

Watch Video Solution

2. Assertion (A):Sulphide ores are concentrated

by forth floatation process . 

Reason ®:Sulphide ores are preferentially

wetted by oil can be separated from gangue.

https://dl.doubtnut.com/l/_E9RMCdGZlqha
https://dl.doubtnut.com/l/_slDQo63cCTAG


A. A and R are correct mR explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: a

View Text Solution

3. Assertion (A): Sulphide ore are concentrated

by forth floatation process. 

https://dl.doubtnut.com/l/_slDQo63cCTAG
https://dl.doubtnut.com/l/_BA6U0VG4bWjJ


Reason (R ):Sulphide ores are preferentialy

wetted by oil can be separated from gangue.

A. A and R are correct mR explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_BA6U0VG4bWjJ


4. Assertion (A):A suitable reducing agent is

selected based on the thermdynamic

consideration. 

Reason (R ):The reduction of metal oxide with

a given reducing agent can occur if the free

energy change fot the coupled reaction is

positive.

A. A and R are correct mR explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

https://dl.doubtnut.com/l/_S5ML0iU15AGV


Answer: c

View Text Solution

5. Assertion (A): Aluminium can be used as a

reducing agent for the reduction of chromic

oxide. 

Reason(R ):In the Elligham diagram ,formation

of chromium oxide lies diagram,formation of

chromium oxide lies above that of the

aluminium,therefore  is more stable

than 

Al2O3

Cr2O3

https://dl.doubtnut.com/l/_S5ML0iU15AGV
https://dl.doubtnut.com/l/_ZFojVDcIPe7i


A. A and R are correct mR explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: a

View Text Solution

6. Assertion (A):Zone refining is based on the

priniciple of fractional crystallisation 

https://dl.doubtnut.com/l/_ZFojVDcIPe7i
https://dl.doubtnut.com/l/_uDEOsEHuxIki


Reason (R ):This process is carried out in an

inert gas temprature.

A. A and R are correct R explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_uDEOsEHuxIki


7. Assertion (A):Aluminium is used in the

design of chemical reactors. 

Reason (R ):Aluminium has high resistance to

corrosion

A. A and R are correct R explain A

B. A and R are correct,R does not explains A

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_dTLN9FOb8saA


Additional Questions Find The Odd One Out And

Give The Reasons

1. Find the odd one out and give the reasons 

(a)Nickel (b)Silicon 

(c )Germanium (d)Galium

Watch Video Solution

https://dl.doubtnut.com/l/_dTLN9FOb8saA
https://dl.doubtnut.com/l/_Hhplc3bdordc


2. Find the odd one out and give the reasons 

(a)Copper (b)Zinc 

(c )Silver (d)Galium

Watch Video Solution

3. Find the odd one out and give the reasons 

(a)  (b)  


(c )  (d)

View Text Solution

ΔG = − V e ΔH = − V e

ΔS = + V e ΔS = − V e

https://dl.doubtnut.com/l/_fu9gccKYTMZL
https://dl.doubtnut.com/l/_1rfFGklN7Z8u
https://dl.doubtnut.com/l/_oWVWob3AiKBJ


4. Find the odd one out and give the reasons 

(a)Haematite (b)Siderite 

(c )Limonite (d)Azurite

Watch Video Solution

5. Find the odd one out and give the reasons 

(a)Copper glance (b)Zinc blende 

(c )Argentite (d)Magnetite

Watch Video Solution

https://dl.doubtnut.com/l/_oWVWob3AiKBJ
https://dl.doubtnut.com/l/_aVe3hOei1rvD


Additional Questions Find Out The Correct Pair

6. Find the odd one out and give the reasons 

(a)Silver (b)Gold 

(c )Sodium (d)Platinum

Watch Video Solution

1. (a)Metallurgy-Extraction of metals

(b)Clay-Ore of Al 

https://dl.doubtnut.com/l/_uwkQjAGDBkln
https://dl.doubtnut.com/l/_Cw2GQ1SoRuui


(C )Na-Native element 

(d)Ore-Gangue

View Text Solution

2. Find out the correct pair: 

(a)Bauxite-Iron 

(b)Siderite-Aluminium 

(c )Malachite-Copper 

(d)Argentite-Gold

Watch Video Solution

https://dl.doubtnut.com/l/_Cw2GQ1SoRuui
https://dl.doubtnut.com/l/_soJEYBPciJAs
https://dl.doubtnut.com/l/_NjYoOnvbMrCs


3. Find out the correct pair 

(a)Limonite-Sulphide ore 

(b)Cuprite-Oxide ore 

(c )Calamine-Sulphide ore 

(d)Horn silver-Oxide ore

Watch Video Solution

4. Find out the correct pair 

(a)Oxide ore-Froth floatation process 

(b)Sulphide ore-Gravity separation process

https://dl.doubtnut.com/l/_NjYoOnvbMrCs
https://dl.doubtnut.com/l/_WoI7QHxDltFJ


(c )Gold ore-Leaching method 

(d)Oxides ore-Magnetic separation

Watch Video Solution

5. Find out the correct pair

(a)Aluminium-Galvanising metals 

(b)Zinc-Cooking vessels 

(c )Iron-Cutlery 

(d)Copper-Dental fillings

View Text Solution

https://dl.doubtnut.com/l/_WoI7QHxDltFJ
https://dl.doubtnut.com/l/_t0TUwOL5GQjX


Additional Questions Find Out The Incorect Pair

1. (a)Copper-Least reactive 

(b)Clay-Mineral of Al 

(c )bauxite-Mineral of Al 

(d)Gangue-Impurity

View Text Solution

2. Find out the incorrect pair 

(a)Aluminium-Corundum 

(b)Limonite-Iron 

https://dl.doubtnut.com/l/_zrLJ8cAHaTiI
https://dl.doubtnut.com/l/_VoBK7Xk7xIbg


(c )Galena-Lead 

(d)Tin-Siderite

Watch Video Solution

3. Find out the incorrect pair 

(a)Magnetite-  


(b)Malachite-  


(c )Horn silver-  


(d)Stefinite-

Watch Video Solution

Fe3O4

CuCO3. Cu(OH)2

Ag2S

Ag2SbS4

https://dl.doubtnut.com/l/_VoBK7Xk7xIbg
https://dl.doubtnut.com/l/_gdIvEb7uaCjf
https://dl.doubtnut.com/l/_ItyO1rTIj2Na


4. Find out the incorrect pair 

(a)Tin stone-Oxides ore 

(b)Copper pyrite-Oxide ore

(c )Zincite-Oxide ore 

(d)bauxite-Oxides ore

Watch Video Solution

5. Find out the incorrect pair

(a)Haematite-Gravity separation process

(b)Copper pyrite-Froth floatation 

https://dl.doubtnut.com/l/_ItyO1rTIj2Na
https://dl.doubtnut.com/l/_bAICGzkomhk8


(c )Bauxite-Leaching process 

(d)Pyrolusite-Magnetic separation process

View Text Solution

6. Find out the incorrect pair

(a)Gold ore-Cyanide leaching 

(b)Nickel ore-Ammonia leaching 

( c)Aluminium ore-Alkali leaching 

(d)silver ore-Acid leaching

Watch Video Solution

https://dl.doubtnut.com/l/_bAICGzkomhk8
https://dl.doubtnut.com/l/_g0EYpSj9pNk4
https://dl.doubtnut.com/l/_wv7p0zQVT53C


Additional Questions 2 Mark Questions Answer

The Following

7. Find out the incorrect pair

(a)Aluminium-design of aeroplane 

(b)Zinc oxide-Cosmetics 

(c )Zinc sulphide-X-ray screens 

(d)Iron-Artificial limb joints

Watch Video Solution

1. Define Metallurgy

https://dl.doubtnut.com/l/_wv7p0zQVT53C
https://dl.doubtnut.com/l/_PBIgZaUkGGfj


Watch Video Solution

2. What are minerals?

Watch Video Solution

3. What are ores?

Watch Video Solution

https://dl.doubtnut.com/l/_PBIgZaUkGGfj
https://dl.doubtnut.com/l/_SvBXYSP0ehcE
https://dl.doubtnut.com/l/_UaBg6VX8aih7


4. Write down the steps involved in a

metallurgical process.

Watch Video Solution

5. What is Gangue ?

Watch Video Solution

6. Give the depressing agents used in the froth

flotation process and why we use depressing

https://dl.doubtnut.com/l/_eLu70kNVHGQU
https://dl.doubtnut.com/l/_GiWClWSnsy2J
https://dl.doubtnut.com/l/_7oR0tfrRPSXo


agents in that process?

Watch Video Solution

7. What is leaching?

Watch Video Solution

8. Explain Cyanide leaching.

View Text Solution

https://dl.doubtnut.com/l/_7oR0tfrRPSXo
https://dl.doubtnut.com/l/_bTQgplrPSZyE
https://dl.doubtnut.com/l/_rhrpVLt65hAa


9. What is cementation ?

Watch Video Solution

10. What is meant by ammonia leaching ?

Watch Video Solution

11. What is Acid leaching?

Watch Video Solution

https://dl.doubtnut.com/l/_eQJxphqhoizP
https://dl.doubtnut.com/l/_pzlhwQ4CK1FA
https://dl.doubtnut.com/l/_EV1fHn9WwXZZ
https://dl.doubtnut.com/l/_9q0rMiORoRWH


12. What is roasting?

Watch Video Solution

13. Calcination

Watch Video Solution

14. How will you manage sulphur dioxide

produced during roasting process?

Watch Video Solution

https://dl.doubtnut.com/l/_9q0rMiORoRWH
https://dl.doubtnut.com/l/_aSSbFEfCUMy4
https://dl.doubtnut.com/l/_SRt53pOE5XeQ


15. What is smelting?

View Text Solution

16. Explain Auto reduction.

View Text Solution

17. What is Ellinghanb diagram?

View Text Solution

https://dl.doubtnut.com/l/_SRt53pOE5XeQ
https://dl.doubtnut.com/l/_W2l4iowYvPv4
https://dl.doubtnut.com/l/_9q4Yeswu8r9d
https://dl.doubtnut.com/l/_NM7V6cYBWkRi


18. CO is more stable at higher temprature

.Why?

View Text Solution

19.  and HgO are unstable at moderate

temprature and they will decompose on

heating even in the absence of reducing agent

.Why?

View Text Solution

Ag2O

https://dl.doubtnut.com/l/_NM7V6cYBWkRi
https://dl.doubtnut.com/l/_hgONqZoemM1l
https://dl.doubtnut.com/l/_24Ynj1GEtZB6


20. What is refining process?

Watch Video Solution

21. List -out the common refining methods.

View Text Solution

22. Explain Distillation process with suitable

example.

View Text Solution

https://dl.doubtnut.com/l/_CerdT3c1AVKx
https://dl.doubtnut.com/l/_QUJlXSTem1Cs
https://dl.doubtnut.com/l/_TODn1NVmcJwr


23. Write the application of copper.

Watch Video Solution

24. Why aluminium cannot be extracted by

reducing alumina with carbon?

Watch Video Solution

25. Write the names of two ores of copper.

https://dl.doubtnut.com/l/_TODn1NVmcJwr
https://dl.doubtnut.com/l/_0Y5fx8StcBT2
https://dl.doubtnut.com/l/_yj74oXkzxr6J
https://dl.doubtnut.com/l/_1kSbqxnAIKPg


Watch Video Solution

26. Explain the role of carbon monoxide in the

purification of nickel?

Watch Video Solution

27.  can be reduced to the metal by

heating with carbon but not . Justify

your answer.

Watch Video Solution

ZnO

Cr2O3

https://dl.doubtnut.com/l/_1kSbqxnAIKPg
https://dl.doubtnut.com/l/_5ChDsaEdx5Vh
https://dl.doubtnut.com/l/_IIZDUbo6o6h2


28. Name the method used for the refining of

(i) Nickel (ii) Zirconium

Watch Video Solution

29. Give one example for (i)Acidic flux (ii)basic

flux

Watch Video Solution

https://dl.doubtnut.com/l/_IIZDUbo6o6h2
https://dl.doubtnut.com/l/_q1SmCqzZSVrY
https://dl.doubtnut.com/l/_aAbL0XSf1MX8


Additional Questions 3 Mark Questions Answer

The Following Questions

30. Why is the reduction of a metal oxide

easier if the metal formed is in liquid state at

the temprature of reduction?

View Text Solution

1. All ores are minerals , but all minerals cannot

be called as ores ,

Watch Video Solution

https://dl.doubtnut.com/l/_bEM5JsxJizI9
https://dl.doubtnut.com/l/_Syqcx0llFFWe


Watch Video Solution

2. Bauxite is an ore of aluminium while china

clay is not .Why?

Watch Video Solution

3. Explain Gravity separation process or

Hydraulic washing process?[OR] 

How will you concentrate oxide ores?[OR] 

Explain the suitable method to concentrate

hematite and tinstone ores.

https://dl.doubtnut.com/l/_Syqcx0llFFWe
https://dl.doubtnut.com/l/_C3FhbJxEbgow
https://dl.doubtnut.com/l/_6VTitNM4E6z6


Watch Video Solution

4. Write a notes on alkali leaching process?

Watch Video Solution

5. Complete the following reaction. 

(a) ? 


(b) ? 


(c) ?

Watch Video Solution

ZnS + O2

Δ
−−→

P4 + O2 →

CaCO3Δ →

https://dl.doubtnut.com/l/_6VTitNM4E6z6
https://dl.doubtnut.com/l/_aBuBp6wmGMA3
https://dl.doubtnut.com/l/_o3nOZ2VVZtaG


6. Explain Aluminothermic process.

Watch Video Solution

7. Why aluminium can be used as a reducing

agent for the reduction of chronic oxide?

View Text Solution

8. Write notes on liquation.

View Text Solution

https://dl.doubtnut.com/l/_o3nOZ2VVZtaG
https://dl.doubtnut.com/l/_cVQegI4Orgmy
https://dl.doubtnut.com/l/_SWrHUk24pZkn
https://dl.doubtnut.com/l/_0idwmwX9k3KQ


e  e  So u o

9. Write the application of Iron (Fe).

Watch Video Solution

10. Mention the uses of Gold (Au).

Watch Video Solution

11. The extraction of Au by leaching with NaCN

involves both oxidation and reduction.Justify

https://dl.doubtnut.com/l/_0idwmwX9k3KQ
https://dl.doubtnut.com/l/_Nu4FOk1t553h
https://dl.doubtnut.com/l/_sm4qvY2Yjf5M
https://dl.doubtnut.com/l/_hbdJPznOM39J


by giving equation.

Watch Video Solution

12. Account for the following facts: 

(a)The reduction of a metal oxide is easier if

the metal formed is in liquid state at the

temprature of reduction. 

(b)The reduction of  with Al is

thermodynamically feasible ,yet it does not

occur at room temprature. 

(c )Pine oil is used in forth floatation method.

Cr2O3

https://dl.doubtnut.com/l/_hbdJPznOM39J
https://dl.doubtnut.com/l/_ubO3OOgltErw


Additional Questions 5 Mark Questions Answer

The Following Questions

View Text Solution

13. Write the chemical reactions for

purification of Zirconium by Van Arkel's

process

Watch Video Solution

https://dl.doubtnut.com/l/_ubO3OOgltErw
https://dl.doubtnut.com/l/_dIE6fqX9cn36


1. Explain froth floatation process.[OR] 

How will you concentration sulphide ores?

[OR] 

Explain the concentration of copper pyrites

and galena ores.

Watch Video Solution

2. Discuss the magnetic separation process.

[OR] 

How will you separate magnetic ores from

non-magnetic ores?

https://dl.doubtnut.com/l/_GRg3sShFsSg2
https://dl.doubtnut.com/l/_gqITk80LUJZN


Watch Video Solution

3. Write a note on thermodynamic principle of

metallurgy.

View Text Solution

4. Explain the observations from the Ellingham

diagram.

View Text Solution

https://dl.doubtnut.com/l/_gqITk80LUJZN
https://dl.doubtnut.com/l/_ud6EkOS9k59B
https://dl.doubtnut.com/l/_jGzbcjTSrgNU
https://dl.doubtnut.com/l/_S03e5HVTSr0D


5. Discuss the application of the Ellingham

diagram:

View Text Solution

6. Explain the method to purify Titanium metal

.[OR] 

Explain Van-Arkel method for refining Titanium.

[OR] 

How will you purify metals by using iodine?

Watch Video Solution

https://dl.doubtnut.com/l/_S03e5HVTSr0D
https://dl.doubtnut.com/l/_BNYoKSHaDDXC


7. List out the application of aluminium.

Watch Video Solution

8. Complete the following reactions. 

(i)  


(ii)  


(iii)  


(iv)  

(v)

Watch Video Solution

Cr2O3 + Al
Δ

−−→ ?

B2O3 + Na → ?

T hO2 + Ca
?

−−→ ?

Mn3O4 + c → ?

Ag2O + H2 → ?

https://dl.doubtnut.com/l/_wuFsrM8QKuzx
https://dl.doubtnut.com/l/_QXFoexRgocrq


https://dl.doubtnut.com/l/_QXFoexRgocrq

